HMANIE BT 4
D EIENAE / 5 &R

DEIEMNMA - FEBARHIE

EH 22122.

EmiEiR
REIEERRREIHEA.

ME FEE
PN} BHERETHRIEIEMEHERE EH
C W e 22120.)o
o TH#SH 1.4305 12k
%if REICRE 6 REESETEBUE. RE8
. BHAER (POM) P B e el o v LA SRR M R Ao
EEHF EZEH
- i, Wit
o REEEE 1.4305 , $ER AEEE
Fim TR BEBHIHER .
. MM PAG, B BT RELRERIBE.
ELEMm

- EUHE, BRARD RSN EIE M
- IEMRERR ERARD EEME
« XEE, BARD EReN D BIEVE

[i:1]
ds
WS
=| :[ ]
S
g N
5 AN
u'_* | di | lock nut
i d, 22120.0116 - .0118 (Steel)
22120.0516 - .0518 (Stainless steel)
HES-E)
R~ WS BEHE" @ i
d, dy Iy ds Iy I3 Iy F, Fs min max.
-0,02 min ~ = ~
-0,04
[mm] [mm] [N] [°C] [9]
i}
6 M12x 1,5 6 28 56 22 6 19 6,5 19 -30 80 45 22122.0005
6 M12x 1,5 9 28 56 22 6 19 6,0 25 -30 80 45 22122.0010
8 M16 x 1,5 8 28 62 26 8 19 8,5 26 -30 80 73 22122.0015
8 M16 x 1,5 12 28 62 26 8 19 8,5 28 -30 80 74 22122.0020
10 M16 x 1,5 12 28 62 26 8 19 9,5 38 -30 80 75 22122.0025
BNt
6 M12x 1,5 6 28 56 22 6 19 6,5 19 -30 80 45 22122.0105
6 M12x 1,5 9 28 56 22 6 19 6,0 25 -30 80 45 22122.0110
8 M16 x 1,5 8 28 62 26 8 19 8,5 26 -30 80 73 22122.0115
8 M16 x 1,5 12 28 62 26 8 19 8,5 28 -30 80 74 22122.0120
10 M16 x 1,5 12 28 62 26 8 19 9,5 38 -30 80 75 22122.0125
VigEtEE
ENHALDER A

FIE7E: 12.10.2023


http://halder.com/tw/22122.0005
http://halder.com/tw/22122.0010
http://halder.com/tw/22122.0015
http://halder.com/tw/22122.0020
http://halder.com/tw/22122.0025
http://halder.com/tw/22122.0105
http://halder.com/tw/22122.0110
http://halder.com/tw/22122.0115
http://halder.com/tw/22122.0120
http://halder.com/tw/22122.0125

HMANIE BT 4

DEIEMA / 5o EIRE
B¢+
R~ wRFRY [ 1 R
dz
[mm] [mm] gl
M12x1,5 18 75 221200116
M16x 1,5 24 15,0 221200118
M12x1,5 18 75 22120.0516
M16x 1,5 24 15,0 22120.0518

AFRFANSHRER  BEEMENER.

HE2m2
EEHALDER FIE7E: 12.10.2023


http://halder.com/tw/22120.0116
http://halder.com/tw/22120.0118
http://halder.com/tw/22120.0516
http://halder.com/tw/22120.0518

